Name: Score :

p (Midpoint Formula} e )
/Examgle: The endpoints of the line segment are (-1, 2) and (7, u); the midpoint
is (3, =5). Find the value of the unknown.
Midpoint = (x‘ tX ) +y’) — (3,-5) = ('1” , 2+u)
2 2 2 2
— 3 = (_1+7) r =5 = (2+u) = -10=2+u
2 2
\ u=-12 /

The endpoints and the

1) Endpoints: (9,1t), | 1 -9), (6, p)
Midpoint : (u, 6) 2, 5)

t= u | Gain complete access to the largest J| ¢ =
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3) Endpoints: (m, -3 12,5),(h,7)
Midpoint : (-7, -! 3, 6)
m =

5) Endpoints: (-6, -
Midpoint : (3 y) www.mathworksheets4kids.com 1 7)

X = , y = C = , d =

7) Endpoints: (8,-12), (6, -n) 8) Endpoints: (-5, z),(3,-9)
Midpoint : (7,-10) Midpoint : (-1,-11)
n = Z =

1e value of the unknown.
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